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Calculating :

(M 40-8=

A0 246+70=

_I_

@ 50-16=
50
- 16
® 60-22=
96-56=
aD 419+33-
.+.
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Subtraction of 2-Digit Numbers
with Borrowing

2 365+245=

_|_
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Circle the correct solution and calculate the answer :
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There are 35 red marbles in a box and orange marbles are 27 more than the red ones.
How many orange marbles are there ?

A. 35+27= (F) B. 35-27= (%)
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There are 48 yellow marbles in a box, which are 16 less than the green ones.
How many green marbles are there ?

A. 48+16= (%) B. 48-16= (F8)
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There are 50 blue marbles in a box and purple marbles are 15 fewer than the
blue ones. How many purple marbles are there ?

A. 50+15= (%) B. 50-15= (F)
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There are 27 white marbles and 45 black marbles in a box. How many fewer
white marbles are there than black ones ?

A. 45+27= (%) B. 45-27= (%)
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There are 40 gold marbles in a box. Silver marbles are 12 more than the gold ones.
How many gold and silver marbles are there altogether ?

A. 40+12+40= (F8) B. 40-12+40= ()
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